
SAP ABAP table COEP_P {CO object: Line items by period, transfer structure}

COEP_P

BUZEI [NUMC (3)]

OBJNR [CHAR (22)]

VERSN [CHAR (3)]

KSTAR [CHAR (10)]

HRKFT [CHAR (14)]

VRGNG [CHAR (4)]

PAROB [CHAR (22)]

PAROB1 [CHAR (22)]

USPOB [CHAR (22)]

VBUND [CHAR (6)]

PARGB [CHAR (4)]

TWAER [CUKY (5)]

OWAER [CUKY (5)]

MEINH [UNIT (3)]

MEINB [UNIT (3)]

WERKS [CHAR (4)]

MATNR [CHAR (18)]

OBJNR_N1 [CHAR (22)]

OBJNR_N2 [CHAR (22)]

OBJNR_N3 [CHAR (22)]

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

FKBER [CHAR (16)]

LOGSYSO [CHAR (10)]

PBUKRS [CHAR (4)]

PFKBER [CHAR (16)]

LOGSYSP [CHAR (10)]

SEGMENT [CHAR (10)]

PSEGMENT [CHAR (10)]

COKEY

MANDT [CLNT (3)]

HRKFT [CHAR (14)]

 COEP_P-HRKFT = COKEY-HRKFT 

0..N

0..N

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 COEP_P-KSTAR = CSKA-KSTAR 

0..N

1

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]

 COEP_P-PSEGMENT = FAGL_SEGM-SEGMENT 

0..N

0..N

 COEP_P-SEGMENT = FAGL_SEGM-SEGMENT 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 COEP_P-MATNR = MARA-MATNR 

0..N

{0,1}

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 COEP_P-OBJNR = ONR00-OBJNR 

0..N

1
 COEP_P-OBJNR_N1 = ONR00-OBJNR 

0..N
{0,1}

 COEP_P-OBJNR_N2 = ONR00-OBJNR 

0..N
{0,1}

 COEP_P-OBJNR_N3 = ONR00-OBJNR 
0..N

1

 COEP_P-PAROB = ONR00-OBJNR 0..N

{0,1}

 COEP_P-PAROB1 = ONR00-OBJNR 

0..N

{0,1}

 COEP_P-USPOB = ONR00-OBJNR 

0..N

{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] COEP_P-BUKRS = T001-BUKRS 0..N

1  COEP_P-PBUKRS = T001-BUKRS 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)] COEP_P-WERKS = T001W-WERKS 0..N
{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 COEP_P-MEINB = T006-MSEHI 

0..N

1

 COEP_P-MEINH = T006-MSEHI 
0..N

1

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 COEP_P-VBUND = T880-RCOMP 

0..N

{0,1}

TBDLS

LOGSYS [CHAR (10)]

 COEP_P-LOGSYSO = TBDLS-LOGSYS 

0..N

1

 COEP_P-LOGSYSP = TBDLS-LOGSYS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COEP_P-OWAER = TCURC-WAERS 

0..N

0..N

 COEP_P-TWAER = TCURC-WAERS 
0..N

1

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 COEP_P-FKBER = TFKB-FKBER 

0..N

{0,1}

 COEP_P-PFKBER = TFKB-FKBER 
0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 COEP_P-GSBER = TGSB-GSBER 

0..N

1

 COEP_P-PARGB = TGSB-GSBER 

0..N

{0,1}

TJ01

VRGNG [CHAR (4)]

 COEP_P-VRGNG = TJ01-VRGNG 

0..N

0..N

TKA09

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VERSN [CHAR (3)]

 COEP_P-VERSN = TKA09-VERSN 

0..N

1


